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‘Worksheet-Review for Exam 3 Trigonometry Summer A 2016

1. In each part, you are given the polar coordinates of a point. First plot the point, and then find the rectangular
coordinates of each point. Finally, give two different polar coordinates representation of the same point.
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2. {a) Convert to Ll;ectangular coordinates r = 4 cscf and graph the curve. of :I:’_IL_
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(b) Convert to rectangular coordinates 7 = 6cosf — 2sin6. Then complete the squares to show that the graph of
the curve is a circle and graph the curve.
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3. Identify and make a rough sketch of each polar equation
(a) r =3 — 3cos(b)
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(b) r = 5sin(26)
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(c) r = 2cos(30).
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4. Solve each of the following triangles. Specify if no solution, or more than _one solution exist. . é [e
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(a) Solve the triangle with a = 3, b =4, A = 20°. Lau,d o Augs, ~ LQQ()W
(b) Solve the triangle with angles A = 10°, C = 100°, and side b = 2. L&J o S;‘Ke& _ 39&{#10* Pcﬁ tLlQ
(c) Solve the triangle with a = 24, b = 26, and ¢ = 10. LQU og GMA%L;

5. (a) Suppose that in a triangle we know two sides, a,b, and the angle C between them. Show that the area of
the triangle is given by A = QL%E—Q

(b) Find the area of a rhombus with sides of 3 cm and one angle of 30°. Also find the length of the diagonals of

this rhombus. '
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- 6. Pbs. 52, 58, section 7.1 textbook.
7. Pbs. 39, 40, 41. section 7.2.

8. Solve each equation on the interval 0 < 6 < 27
a) sinf — v/3cosf =0 & ssub= 2 v & 4%9:5 &>

b)oosO+sind=—v2 = Ao, Oz S S Ha ouly selhes
¢) (Use the appropriate double angle formula first) sin(26) = 2sinf@ 5, A'\(S(.Jeg‘ . ©=0 op 9 =4
d) (Use the appropriate double angle formula first) cos(2) = 3 — sin 8 5 Awger ¢ Ko \DL(-L‘\;D‘\')

e) (Use the appropriate identity first) 5(1 + cos 8) = sin® 0 ; —
» = Asoer 0T by selife,
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